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1 = Gab - 4a’b’ + 8ab’ + 3ab - a’b + 4a’L’

= 8ab + 8ab’ - a’b

2 =2 - 16 +x - 2x+Xx-2- 6X - 8x +7X
=8x* +2 - 6x* - 9x - 18

3 = 4" - X"+ - 5™ - 24x" - Ox*"

= - 5x*" - 25x" - 5x"*

4 A+B+C=0, C=- A+B =-A-B
A=mn-5mn® B =4mn® - 2m’n
C=-A-B=- mn-5m° - 4mn®- 2nm°n

=- m’n +5mn® - 4mn® + 2m°n

= mn +mn’

4 A+B+C=0 C A+B
A+ B
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m n p | 2m|+m =0 [ n|=n p-| p|=1 | nf-
| m-p-1] +[p+n|-|[2n+1]
| 2m|+m =0, |2m|] m
,|2m]  [m] , m=0
|nf=n, n=0 plpl=1, p=1
, |nl=n|m-p-1]=0-1-1]=2
|p+n|=|1+n|=1+n |[2n+1|=2n+1
, | nl-|m-p-21]+4p+n|-|2n+1l|] =n-2+ 1+n - 2n+1
=n-2+1+n-2n-1=-2
4 | x- 1]+ x- 2]
Xx-1=0 Xx=1
Xx-2=0 X =2
14-1 X <1 =- X-1 - x-2 =-2x+3
—1 0 1 2 3
14-1
X<?2 = x-1 - x-2 =1
X > 2 = x-1 + x-2 =2x-3
1.
1 @ +2a-1 - -2a+3a-2 = a:-1%
2 2a° - 5a-6 4+2a
3 3% - 2xy 4% - xy - 3y
4 2n+1 n=7
5 a+ab=4 ab+b =-1 a- = a’ +3ab+21° =
6 a2+a+1:0 a2001+a2000+a1999:
2.
1 9a- 3a- 4a- 7a-3
A -5a+3 B 9a-3 C 3a-3 D 3a+3
2 a-p -a+p
A a+1 B 2a°- 21 C -2a%+2r DO
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=

A A>B B A<B C A=B D
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A -9 B 9 C 18 D -18
a |1-al+2|a-1]
A a B a-1 C 3a-3 D 3- 3a
2 41 L)_(iz_ 1 i)
(Zx 12x+3 12x 33x+7
iz 1 i lZ 1 i
A X TeXt o B 22X - 6X*2
1,11 4 1. 11 .4
C X Xty D 25X - 6X*5
W -Bx+xX+1 + Bx-4¢ +3 - x-3+2¢+X°
A=2x%-9x-11 B=3X¥ +5x+4 C=7¥-6x+8 A- B+C
- -_. 3 Coa.p .2 S1 .1
a=2 b= 5 2 a+hb a-b 3 a+b 2a+2b
a>0 b<oO | 3-5b|-]3b-2a|+8-1]|-|]3a+1]
o1
b = 10
1<x<5 | Xx-1|-]15-x]|+] x-6]
15
1 8
5y°
3X
B -x =4
. -5a+2a® =- 3a°
38 Epa
3
.a- b+c-d =a-b+c-d
.6a-2b-c =6a-2b- 2c
.a+b-c-d= a+b - c+d
.5x-y -5y-x =0
3 42
2 2
. - Zab-1
3a’b 3ab
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2
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2. 3+m x"y Xy m
3.X2+4x - g-2 X -2x+5 X
4. 3xy - y3x+%x2y“-%x3y2 X
5.2a-3a-1 =
6. - - =3x-2y+3
7. - 9X+1 +6X -4xy+y =6X - 9X-
8. - 27x® 3™
9. m- n-2m- m-n =
10. 12- 3 4a-3 a- 2 =
11.5 a+b +4 a+b +7 -a-b =

1., 1 1
12. - =& +(- £ 23)- (-47 23)=

4ab 3ab
13. -5y 3 - 2xy 7YX
14. 5a® - 2a- 3ab+ b =- +5a° - 2a
6 24
1.a*-3a+8-3a’+5a-7
2. 23a’b ¢ + 10abcd - 15a°b c - abd + 2a’b ¢ + abd?
3.-%ab—( b)+ab+ ) (-iab)
4. - 33 -5 +3& - -!;2
a ( > b2+3cz) (
6 12
1. A=3¢-5x+1 B=xX-4x+2 3B -
2. 10a + b 10b + a
7

15a* - -4a’+ 5a-8a’- 2a’-a +9a° - 3a
7

‘)

_pq:
8., 1
a+ghry

2
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2
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2
1.
2x+4 8- X 2x -5 =3
2.
3.
Xx=-3 3x+1=2x-3
3x -3 +1=2x -3 -3 =3x -3 +1-=
-9+1=-6-3 =2x -3 -3=
-8=-9
, X=-3 , X=-3
1
1 3x-2 2 2a-b =2a-2b
3 3x=4x-1 4 5Xx +2x =7x
1 3x-2
2 2a-b =2a-2b ab
3 3x=4x-1 Xx =1 X =2
#
4 5x +2x = 7X X
F+4 =5
2
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2 -Sx_ X =
16X:7' l 5 “ 51;
— i H_Ell
2 X = 2 5 >
1 _
3 gx—5+2m—4 6 m
_ 1 _
X =6 §><6-5+2m—4
2-5+2m =4 3
om =4 +3 2 m:%
1.
1 5+2x =9 2x = 4
4 -1 -_ 3
2 " 35T =g — —
1 _
3 2x—3.6—x

2.
1 3x+1=2x+3 X=1 x=2 x=3
3 _ 1 _ _
I S A
3 _,.1 _5 __ _
3 X 4 3 > (X—?X—ZX—-Z)
1
+ = - = = = = -
4 2y+5=y-1 (y Ly=3y 6)
3. X ¥ +mx+n-1=0
1 mn x=1
2 mn x=1 x=-1
4, X =2 4 - mx+6 =0 m
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ax=b a#0 a b 1
1. _
-2x—8 1 X =16
“ ” “ ” 7X=
7X-5x=-2 x=-1
“ " 0.2x-0.1, 1 _ ) _
o1 +O.5_X 2X-1+2 =X
3X-6=2Xx-4 3 x-2 =2 Xx-2
X-2 3=2
2X+3 =11-6x 2x+3 =11-6x =8x =8
3X-4+2x =4x- 3 3X+2x+4x =-3- 4
7
=-7 1 =- —
9x X 9
y—y'1:2—y+2 y-5y-1 =2-2y+2
2 5
y-5+2y=2-4-5 -2y =-7 1
X-2 X-2 2
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1 3x-1 —2(?x—1)—4 x- 1
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2x-1 10x+1 _2x+1
4T3 T T g 1
0.4x+2.1 0.5-0.2x _
5 05 o003 26
1 3x-3-3x+2 =4x- 4 3x-3x-4x =-4+3-2
- _3
-4x =- 3 1 x—4
1 1 o110 01,01 .1 1 _ 1
2 X 93x-§x-1 9 6xx 3x+27x+9 5 6x
oLy, -1 1
3727 6 9 9
é—ix:o 1 x=0
1 1 113 1 3
- — ] = —| —v - - +1_7:7_7+7
° y-gyrgl=slayyeg] et gy=gy- g
3 1 1. _1. 25, __ 5
oy ytazy=e ot 122 "7 6
__ 2
! -5
4 42x-1 -210x+1 =3 2x+1 - 12
8X-4-20x-2=6x+3-12
8X- 20Xx- 6X =3-12+4+2
_ -1
-18x =- 3 1 x—6
5 ax+2l 0-20x_3 34x+21 -550-20x =9
5 3 5
12x + 63 - 250 + 100x = 9 12x + 100X = 9 - 63 + 250
112X = 196 1 x=%
1 ~ 3
4
5
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3x-1 X+2
1 X > 3 -1
2 m-1x- m+1x+8=0 X D
200 m+x X-2m +m @ y m|y| =x
p X1 _x+2 33x-1 =2 x+2 -6
2 3
OXx -3 =2x+4-6 OX-2x=4-6+3
_ -1
% =1 1 x—7
xzi 3x-1 x+2_1
7 2 3
2 @D m-1=0, m==1
m = -2x+8 = , X=4
m = - -0 x+8 =
, 200 m+x x-2m +m=200 1+4 4-2 +1 =2000 +1 = 2001
@m]y|=x m=1 x =
, lyl=4, y=t4
3x-1 X+2
1 > 3 -1 X 2
0 m-1=0 m X
1.
1 5x +6 = 3X 5x - =-6
Xx-1 X _
2 0.25 125 12 —
3 mx+2 =2 m- X x_%‘:o m =
4 ab ax+b=0
2.
1 X 10kx - X* -9 =0 x=-1 K
4 4
A "5 B 5 CcC1 D -1
2 B2y S 7yT a5 2 a
A -1 B 1 C 2 D
3x-7 _ x+17
3 2- 74 T
A 2-53x-7 =-4 x+17 B 40 - 15x - 35 =- 4x - 68



C 40-53x-7 =-4x+68 D 400-53x-7 =-4 x+17
X 0.15 - 0.7x

4 53 oo O °t
X 1o 0x 10x 15 - 70x
Ag-—g =1 B 5 100
1OX 15‘70)(_ &(-15_0.7)(
C35 -7 =1 D =3 =1
3.
1 5x-32x+1 =-x-45-23x 2 2X6-1=5X8+1
Jxolop o xt2 Apirigx-2 ). _
3 2 2 3 4 7{2[5( 5 +1) 1]+x} 1
E N N A T T 2y ,,2 L14-3y_
> 2{2[2(73"3) 3] 3} 0 6 55+25 55 =0
4,
X 8 - 2x
1 L X
X 6 3 3
6m +3x _ 2x+m_ 10x+1_3
’ ” 2 ° 3 12 " a*l
m
18
1.
2
! 15
24 12 15
|71—< ﬁ>4ﬂ
' 80 |
A |5
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24 24
|4 15(x - 22
15 X" 60 (X 60)
15 15
Lo 12 Lo
12| **6 (x+5)
24\ _ 15
15("'@) 12(" 60)
24 15
15(x - 24 = 12(x + 1°
X 5( 60) (X 60)
24 13
= 1 i I | =~ =
x =3 , 5x(3 60) 5 x = =39
X =3
3 39
= X X
y .24 _
y 15 © 60
y 15
12 7 60
_ 39,24 13,2 _
y =39 5760 575 3
y
2 3 160 4 210
3 K
20% K
. 160 160
3 3
4 2 3 3
K 160 210 160_ . 210
L 210 , 210,) x 209¢
3 @ (3 23)(3a+2a) 0
K = 190
= x 1+
3 1 1
5 49
X 1000 + X 5 1000 +X =
10x +1 +49
X = 990
. 1000 + 990 = 1990 1990
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2. X
2 —_—
3 284
70
A 70x +48 x-1 =284 B
C 70 x- 1 +48x = 284 D
4.
50
A 50x = 45x +15 +1 B
C 50 x-1 =45x+15
5. 18
2 1
3 15
6.
5
> 20
7 20 12
8. 500
15% 60
0. 1
585
10. A B 2
2 4 36
19
3 15
1 1 x-2=3 203=1 3 X
X 2
6 x-3y=1
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70x +48 x +1
70x - 48 x +1

5 x-1
x-15:x

B
y
= 284
= 284
45 15
=45x - 15
50
4
15
42%
2
36
A B
4 X*-4x =3
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A 2 B 3
2. -2

A 5x-3=6x-2

C 2x-1=3x+1

C

4

B 3x-2 =2x
D 2x+3 =4x- 2

2x -1 _ 5x +2
3. 3 =1 5
A 2x-1 =1-35x+2 B 4x-1=6-15x- 2
C 4x-2=6-15x+6 D 4x-2=6-15x- 6
X_ - _ “ ”
4, 1 —3—1 X=-3
2
3 ab ax = b X:Q
a
4 a-3x= a-3y X =Yy
A O 3 B @ @
C 3@ @ D
5.
A2x-1=-110 B -§+1:o(l 7)
2X 3
C ¥-2x=3 3 -1 D x-1 x-2 =0
3 30
1.
2 -3x =0 X = 0.01x- 8 =2 X =
_ 3X-2
3. X = 5
_ X 33X +2
4 X = > 1 2
5 = 2x+1 x-7
6 = 3x- 2 -5 1
7 2X2a+3y2 %Xﬁa-lyb+4 _ ba -
8 % 2 5 X
lal -1 — 2 1
9. a-2x -3=6 X -a - =
a
10. 2x+6 -] k| =0 -2 k
5 30
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1.2x- 5 = 4x +13 o ox. X+l _, 5X-2
2 3
Xx+1 0.1x- 0.2
. - = . - - + + =
3 05 0. 02 3 4, X 3X-2 2x+4 8 = 4x
1 1 1 2 3
- =] - = .= = + = . _ _ —
5 2{ 3[ 4(X 3)” Xty 6. ]2x-1]-3=4
7 a, =a, + n-14d a =2 a, =18 d=4 n
8
12 15
6
2_aéx
10 X f:x 2 3x-1 =3x+1
2 X ax-2=al+2x
20
2 20
1. 4
539600
3. 5ab - 3p? 2a’ - 2ab + B
a
4, - a*+ X +2ab- b =X -
5. m n m=-3 m n = m-n =
_ 2 X-3 i
6. X = 5 4
1m-14 3,,1-3n — _
7. - XY 17y m = n=
8. 3x-k=x+8 X =2 k =
1 1
9. s=v0t+?t2 s=13 t=4 a=5 %=
10. a b 20-1 |
a 0 b
| b-a]+| b+2] 20-1
3 18



1. - 28 -3
A -2 >.3 B -2° <- 3
C -2%=-3 D
2. 1 20
a 4 a>b |a]>|Db]
A1l B 2 Cc 3 D 4
3. lal=|b| ab
A a=b B a=-0Db
Ca=b a+b=0 D
4, 1 %x+1:5 2 X+2=6 33x-2=10 4 2x+4 =12
A 2 B 2 3
C 2 3 D 2 3 4
5. X 4-|lalx=-8 2x-4=0 a
A 6 B -6 C +6 D
6. L:—l X
| x|
A B C D
5 15
2
1. - 2° x -22-(-£)x - 16 +(_£) x - 32
2 3
2. [55-(1-E+i)x -62]+ -3
9 1276
2hH - iz = :-i
3. 3a%b [2ab Z(ab— 2ab)+ab] a=3 b=- 3
1 5 234 6 23
1.3-2x-3 =3x+4 2. x- X217 3%X
3 5
31401 8 _ 4-6x _0.02 - 2x
3‘4[3(?‘*2) 9X]+6 X 4 o0 %°T o
8 24
1. 3.5 2
4 1
2. 3
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20 20 / 3
3. 500 15%
25% 595
21
2 16
1. ab>0 a+b<0 a<0 b<oO
2. -3 5
3. 2XxX+3 -5=3x-6 2x+3-5=3x-6
4. -0.22 &
5. 0.03010 3010
6.a b | b- a] =] a- b]
7. %xy'm"l— m-2vy+3 m=+2
8. X mx -2 =2x-4 m=2
2 16
1.
A |-al B |-a]
C -|-a D |-a]
2. a<0 |a]+a-100
A -2a- 100 B -100 C 2a- 100 D 2| a]- 100
3. Xy X Yy
A L IxlHlyl g Ixtyl c . X-y o X-y
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Al -1 B 0O 1 co -1 DO -1 1
5. 0
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Al B 2 C 3 D 4
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6 5" 3 =1
. -_. 8 -3 -4
A x=-1 B x = 3 C x 2 D x 3
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2
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DO y=1-3x ® 3 ©) %x+%1-3x

X _ Yy
[7 10 .y
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141 1
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/1= .2 ,42=%4mc=%xw°

/ADB = 22 = 30°
BD 1 DC , «£BDC =90°
+/ADC = £ ADB + ~BDC = 30° +90° = 120°
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, +C=180°- ~ADC = 180° - 120° = 60°
/ABC ADC ,C 60° 120° 60°

1.
1 a/b b/c a/c
A B
C D
2
A B
C D
3 455 AB // CD EF // GH /1 =55° P G
/A
A /2 =125° A B
B 3 =55° . 5 .
C 14 =125 4y 5/v
D 25 =55° F H
4 45-6 AB // CD 21 =7,2 455
D C
A B
B
(D)
2.
1 45-7 1
AB // CD , D=2
/DCE =, /DCB+,  =180°
2 45-7 2 BCD CE / AB
CE / AB , 21 =/B
CE // AB , /2= /A
41 =7/B 122 = /A , L1+ /2 =/B+ LA

LACD = B+ LA
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1
2
1 3
E A B B C D A B
M ) 3)
457
BCD , 21+ ,2+ ,ACB = 180°
, LA+ B+ ~ACB =180°
3 45-7 3 AB// CD 3 =45° 1 =75° /A
AB // DC , 22 =/3
/.3 =45° , /2=
AB // CD , LA+ ADC = 180°

LA+ L1+ 22 =180°
’ LA = 1800 - Ll - 42 = 1800 - 750 - 450 — 600

3. 45-8 AB // CD /ABE =50° /CDE = 20° /. BED
D C
A B |
A I B
E |
5 ******* -7’
( D ,/
A’ B’
45-8 459
4. 45-9 AAD'D AAD'D
ABCD AB
46
1.
2.
3.
1.
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1 VA, “oxX”
1
2
3
4 90°
5
6
1 v
2 v
3 X
4 v
5 v
6 v
2
1
2
3
4
5
6
1
2 P a PO PM PO < PM
P a PO 1L a O PM a M
PM
3 La LB LB LB > La
La+ LB =180° 90° < B < 180° /B> La
4 Lo LA /B 4B /A= /B Lo = LB
Za+ LA =90° B+ £LB =90° LA= /B /La = LB
5
6
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1.
2.
3.
1. “ ”
2 @
@ ©)
3 AR
1 47-1 1 =,2 ,C=/D /A= /F
/A= /F AC // DF AC Dk P
// DF +D = ,ABD ,/C=,D
£,C= ,ABD BD // CE /1
=72 /1 =/3 /2 =/3 !
BD // CE /A= /F
« » A B (
“ » 47-1
/1= /2 /3 =71
, /2=/3
, BD// CE
, 2,C=,ABD
/,C=/D
, D= ~ABD
., AC// DF
, LA=_,F
" “ | BD// CE
, ,C= ,ABD ” BD //
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22

/4

21 = /5 A 1/\
o

£C= 2ABD

2 47-2 AB CD EF MN L1 =22 /3

21 =42

/2= /5
AB // CD C ; 47 D
/6= /4
/3= /6
/3= /4
3 47-3 BC L AC DE I AC E FG 1 AB G +1 =

CD 1 AB

BC | AC DE L AC

DE // BC G
/2= /3 1
/1= /2 D
/1 =/3 2
FG// CD
/CDB = /FGB E
FG 1. AB G 47-3
/ FGB = 90°
£/ CDB = 90°
CD 1 AB
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3 47-4 1 ab c a/b
A 21 =,2 B 3+ 24 =180°
C »22=1/3 D 1+ .3 =180°
.
b
B 2 (j

47-4
4 47-4 2
A /1=,2 , AB/CD
B /ABC+ +,BCD =180° , AD// BC
C AD /BC , 13 = /4
D /ABC=,ADC ,1=,2 , AB/CD
2.
1 475 BE // CF BE CF L ABC ~BCD AB // CD
BE £/ ABC
1 A
, 21 = 7LABC 1
1 E
L2 = ELBCD 2
BE // CF , 21 =72 ¢
1 1 475
, ?AABC = ?LBCD
£ ABC = ~BCD
, AB// CD
2 476 ,COF+ ,C=180° ,C= /B AB // EF
/COF + £ C = 180° A
, /
| /LC= j/B 5 .
, AB// EF e
3 47-7 AC 1 BC ~BCD B 476
LACD = /B
AC 1 BC
, £ACB = 90°

£/ ACD + ~BCD = 90°
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+BCD+ /2B =90° , ZACD = /B

C
A D B
47-7
3.
47-8 CD 1 AB D F BC FE L AB E
1 =,2 =30° 23 =80° /4
4,
1 479 BE /ABC ~CBF = ~CFB =65° £ EDF =50° BC
// AE
E A
DAF . D
A B B 5 C
47-9 47-10
2 4710 AC // DE DC// FE CD / BCA EF / BED
48

v X 2 12
1.
2.
3.
4,
5.
6.“

50
1. AB = 10cm AB BC BC = 4cm AC

cm
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2. 34°12' 49" °
3.
4. 48-1 1 AD// BC
2 AB // CD
3 /4 =/ , AB//CD
4 AD/ BC AB/ CD 1 =32° ,DCB = 120° /3 = ° 74 =
° £LADC = °
5. “
6. 48-2 CD /L ACB £ ADE =42° ,AED =70° 2B =42° 1
A
L/ ADE = 42° /B =42° /\
., /ADE = /B D v
, DE// 1
, /ACB = £
/ AED = 70° B 20N
2 = 70° 48.2
CD / ACB
. s2=Y,AcB
2
— 1 o — o
, /2 =-=—x70° =35
2
DE // BC
, L1 =22
, 21 =235°
7. 483 AB//CD B = /D /1= /2
AB // CD
, LB+ 2« = 180°
/B = /2D
, D+ 2~ = 180°
) //
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>

D :
2
3 18 M

A B

A 48-3

B

C

D

30° 45° 60° 0° 180°
A B 6 C 10 D 11
.21 =3x°+15° 2 =7x° - 5° 21 22 X
A 8 10 C 17 D 19

/1 =72 /1+ 23 =180° 2+ 24 =180° /3 = 24

B
D
A 60° B B 15°
£ ABC
BB 105° C 45° D 135°
B
D
10 20
48-4 ADB DE/BC +1= /2 DG // BF
A D
G
D 1 B 2
7
B 2 C B ,
48-4 48-5
485 1 =/7B=,C AE / DAC
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1 30
1. 3x+2y =5 X y =
2. Xy {3x+y:a {XZZ a= b=
bx -y =2 =-3 - -
3. 5x +3y = 8 Xy y =
a. S 2x>1 [X+5>O
3 4-x<0
5. 0.00038 = 2.15 x10° =
6.
1 a a a+ -2a %= 2 -3ay - -5ab =
3 -4x - 2¢-x+3 = 4 32%2. 2%+ _.3°0=
7. 3 -2 2x +5
2-x<0
. x| Ix-3]-1]=
Xx-3<0
9. AB D AB CE AD DB AB = 12cm
DB = 7cm AC = cm CE = cm
10. Lo = 28°32 la La
11. 2 15° X°
X =
12. 49-1 CO L AB O oD £LAOC OE £ BOC 90°
C
D E
B
A 0 B D
49-1 49-2
13. 49-2 OA OB CD
1 21 /5 2 72 /3
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3 22 /4 4 3 /4
14. 49-3 ABC AB D

BC F AC// BE BE /CBD /ABC = 36°
/A= ° /ACF = °
« " B,

15. /\ C
D

E
49-3
2 16
1.
A X+ =2 B 6a° ? =12a"
C -a®+ -a’=-a D 2a’- 5a = 10a®
2.
A 2x+5 x-5 =2x¥-25 B a+2b?%=a'+4t
C 2a+b 2a-b =2a-1 D -a-b?=a+2ab+b
3. ab 49-4
a b 0
A -b>-a B a-5<b-5 49-4
C b-a<bo0 D 10a > 10b
4 -x
A -x?% -X B -X - X
C -x?2 =-x? D -x- -X
5.
A
B
C
D
6.
A
B
C
D
7. 49-5 LA=118° «B=62° 2C «D 30° «C «D
A 105° 75° B 118° 62°
C 115° 85° D
8. 49-6

A /ABE = /,DAB , AB// DC
B AB //DC , ,DCB+ ,ABC = 180°
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C AD /BC , 11= /2
D /3 =74 , AD// BC
D .
T C
A D 4
2
A /b’
B ( E
49-5 49-6
3 12
_ X+y =
1. {ZX'3V"1 2. {y+z=
X+2y =4
z+Xx =-3
% x-1 3X-7<5-x
3. -5y <1 4.[2X+520
3
3 12
1. a+b-1 a-b+1 2. X+y?-4xy x+y?
3. 3a-2b?%- 3a+2b 3a-2b 4. 98°
5
1 s. 1 ) 2. o3| = 242 — . _1
2a-2ab .3b+ 3a 2. 2p°|+ 3a%K’ a 1b >
5
15 1 15
2 30
2 4
1 x+y:% Xy = L 12 + 12y
1)\? 12 a\!
2 e (3
9 b
A .P D
1 5
1 AB CD O P AB CD O
( B
1 P EF/AB CD E 49-7
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2.

No ok~ wDdN

P E
ABC
BC D CD =
D AC
D AC
1
49-9
/1 =72
DE/
/13 =2,C
49-10
AD // BC
1=z
BD /£ ABC
/2= /3
/1 =/,/3
A D
B 2 C
49-10

49-11 AB//DE /A+ /B =180°

mm

BC

DE E

11

49-8

50

1 25

5x-y =12 Xy

| 7x-3y-6|+ 3x+y+2?2=0

a%1l 1-a°=

a

- 0.00000234
-10 ?x -10 °x
X+y ?-4xy + X-y
33X +2

- 10 ? =

2x -1
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3
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B I3 C
49-11
/1 =/,2 /3 =/B
X = y =
X = y =
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A ax+b ox+d =Zac®+ ad+bc x+hd

2
B xx-a =(x-3) - &

9. 50-1 AM = BM = 2MN M - BM
AB
MN ——
. M_N
A B "
b
50-1 50-2
10. 50-2 ab c
/1 72 +1 /3
21 z4 /43 74
/2 /3
11. “ ” “
12. “ AB 1 CD (0] / AOC =90°"
2 16
1.
A
B
C
D
1 X
2. E+§>O
AO -1 -2 -3 -4 B -1 -2 -3 -4
co -1 -2 -3 D -1 -2 -3
3 {x=11
y =12
{10x+9y=2 B {10x-9y=2
5x +4y = 103 5x - 4y = 103
c {10x+9y=2 D {10x-9y=2
5x - 4y = 103 5x + 4y = 103
4,



C a-b-c?=za+b +c - 2ab- 2ac- 2hc
D a-b?- a+b?=-14ab
5.
A
B /1 22 /1+ 422 =
180°
C
D
6. 50-3 AB // CD
A s21=/,4 A 2/ \ B
B 2 =/,3 Z lx
C /1+ ,4 =180° c 3 4
kU7
D 2+ 4,5 =180° 0
7. 50-4 AB // CD /B+ /BED+ /D 50-3
A 180° B 270° C 360° D 540°
A
D
A B
E O
( D b E - C E
50-4 50-5
8. 50-5
A /A= /D , AB // DE
B /B = /DEF , AB // DE
C / A+ » AOE = 180° , AC// DF
D AC // DF , ,F+ ~ACF = 180°
4 40
1. 1999 x 2000 x 2001 - 2000°
2. X+1 2 x-12 x+1°2
3. X-2 X +2x+4 -xx-3 x+3 =1
4 {2x+y:8
X+4y =7
5, P2kl <12 %00
[5x—2>3 X+1
6. 1 3
?X'1$7'?X
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2ab % & -1 2a’h’ ? + 41 +4a’b’
X-2 a +bx+2 X2 ab
: y-X X+y - X+y?-2xXx-y +5x
10. /A /B /A /B 30° /A
1 7
1 50-6 1 AC 2 D BC G
D BC
B
A
a b
C D
50-6 50-7
2. 50-7 ab a>b 2a- b
1 AM 2 AM AB = =a 3
CD=b 4
4
18
1
2 3
1 3 2 5 8
1. 50-8 D E F AB AC BC /1 =/B
/1= /B
, DE//
, /2=/3
A
D/\E D Q
N
3 y
B 3 C
50-9
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Ll so-v 2 72 + 60 72 + 60 72+60 ° x+42 x-2 > tm
n 4 2 m 4 n 3 m n 4 m n 5
m n 2 m n 6 mn m n 3. 1 10a+6 2 10 2a -
3 +a 3 10x+4 4 2x+y2(7x2-1) 5 p-02 -8 5,b-2
y 3 3
2
10 2 3 3 _ _
L0155 22y 313 45 2 1s=wt 220 3. 1 s=10+vt 2
130 4. y= 8+0.3 x
3
_ _ _ 63 _
1L 1 x=7 2x=12 3y=3 4y=2 2 14 23 303 4
1.5 _ 1 B
12 3 1 gx+p=1 2 x-5x=25 3 8-6x=10 45 04 40 13
31 22 4 1 X (1+%)x:35, X =25 2 X
6-4x=400 , X =200 200 x4 +400 =2 2
4
1. 1 -500 2 +200 3 - 400 4 -10 5 A 35 2. 121 -11
2 3 4 3 4 22
o{.-——.—-.}{ .—.—}{-—--.}
21.4 -7 35 13, -001 121 21.4 5 3.5 13 - -1 o001
3 4
{121 21420 35 133} 3.C 4 A 5 D 6. D
5
1.13.20.01-;02 3 20 > » < » = > <
1 4 2 1
> 3. -7<-3<-2<-1<0<27<6 4.-5 2?4¢r -3? 5. 1 2

3 5 2 8 31 4 27

1 1 1
1.12323 2 -5 -5 3837 - 4 aa 2 4413

1%-0.1250.12500-2%2% 3.-5-4-3-2-1012345 4 1 >
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. 4 -2 3. 115 -15 25 -5 44 5b 6.0 -2a+c 7.0 abec
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=2 @ abec =-2
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1 1 1 76
1.1-182534024-100000052 6 -6 7-38
1 1 41 25 5 1
792 1072.1-152-36 3154-106 5-8?6-
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9
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6 16 2 +4 3 -8812 411020+1 51 -103-10+1 2. 1
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6 263 2 12062006 20081891 3 1765x10° 17 6
5 4314314 5 40x10° 40 6 5x10° 5 3. 1 125 2
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0.2 2. 3.-9 -2 0 2.5 #6 4. -2 -1
0123 5.a -a 6. > > 7. 7 02 0 1.4x10° 8. 6.023 x 10"
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25 94

1. -16 2.0 3. -2 4.395 5 -9 6.-5 7. -12 8. -2
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. 1 = Azl Y X-y s . 1o 1
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N

a+b 3.a=1b=1 3-a+b=3 2a+b=3 4. a
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1. 1 D 2 B 3 A 4 C 2. 1 b-db-d 2 1-5xy 1-5y 3
3 -5b 4 z-5x 5 x-1 6 4lab- 10a - 15b

210 3. 1 4a-2c 2 6X-x- g
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55

7 2 -8¢-8-28 4 -2 53-5a-10b -2 6 x
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1. X 20 X 3 X 4 v 5 x 6 X 7. v 8 X
1. -%0 S1 2 %-3 =3 3. -49 43xy-—x3y2+1x2y-xy3 5. - 2a

-3-1 a+1 6.3k-2y+3 7. 4xy-y +1 8 0 9. 4m-2n 10. - 3a- 6 11
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1. 1 1 5 2 2 - — 3 - -36 x x=-7.2 4 3x
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{X 50 6. -5 16 - 16
y=1
. B 2 A 3 A 4 D 5 B
X =12 11
= = = a=-"—
1.{X 12{X 3[y:154.{X4{ 2
= =12 =3
y y z=18 y b=-1
10y = x +3 =77
1. X {y X {X 77
11y =x+11 y =8
x = 80y
8 22 AB X A B y 2 3
55 5% 10
_+—_y__
80 ' 80 +10 60
, {X:ZOO A B 200 B 9 45 3
y =25
X+y+z=270 X = 140
Xy z X-y=%X . {y =100 140 100 30
Xx- y+z =10 z=30
27
1. 1 < 2 < 3 > 4 < 5 > 6 > 7 > 8 > 2 C 3
B 4, B 5 1 X-1<0 x<2 2 X- -3 =0 x=-3 3 -4xX>4-2x X <-
1
2 4 fx<1 x<3
3
28
1. 1 x=2 2x<§ 3 x<1 4 x<10 2. 1 -10 27 3 1 x<5 2
x>5 3 x<5 4 x=5 4 x 543210
29
5 9 3
L 1 2 <xs4 2 -2-<x<2 3 -1<xs5 4 5-=x<3 21123 2
123 3 1-i<a<4 2 5a+1
30
5 9
1 x<-5 2 x>-5 3 Xx<-2 4x<7 5 x>0 6xs€
12<xs3% 2 x=5 3x<-l% 4 5 -2<x<5 6 -3<x<-2
. D 22 D 3 A 4 C 5 D

1. Xx<-5 2. x<5 3 x>32 4.-371<x<2 5. -2 <x<0

— 127 —



1. x=1 1 1<sx<3 1-2x Xx=1 -1 X =3 -5

2 X > 3 -5, m=-1 n=-5 m+n=-6 2
x<2a-b - 3a+5b -3::1+5b:_:L
X>-3a+5b ,#<x<2a-b 2 a=4 b=2
2 2a- b=6
31
1. 1 a’ 2 3
2a° 4 5 a 6
a a’b’ 7 2 2 2x3
8xCy° 8 am™? =ame 9 a ® =
a° ad=a =4 a 10 a "
2.1 A 2 D 3 D 4 B 3. 1 2002 2 &b*? 3 -a"? 4 a+
b 5%a12 4. =4 a" %-3a"°? 4x2°-3x22=20
32

1. 1 A 2 D 3 C 2 1 -12aa-b°® 2-$x9y12 3-% 4
Fmnt 31 - 7.2x10% 2 216x7y? 3 6aM° 4 - 256Xy’ x-2y ° 4x+5y° 5

6X -3¢ - 2x 6 -%azb3+%a3b2-%a2b2+%ab 72XV - 2RV B - 7K +6K - 5
4 12 24 3 -2 427 5 -0.2

33

1. 1 6a*-ab-20® 2 @O a+b (@ ab+c 3 - X¥-x+1 Y 4 4

2.1 B 2 C 3 C 4 C 3.1 xX-10+9 2 4a8-9p°+6b-1 3
3x-11 4 2x+4y-2 5 2X*-xX-6X+7x-2 6 -4 +2¢ +6x - 15¢ +8¢ - x 4. m
=2 n=5

1. 14%-% 211—62-9b2 3 49y - 1.44¢ 4 2496 2. 1 C 2 A 3

1
A 8 _
D 4 C 3.1 x-625 2 X 256

2m-3n?-5 2 x+3z?%- 2y?* 3 x+4z%?- 3y-2z? 4 2a+3b?- 6bc-

3 3 +3% +87 4 16a' - 81 4. 1

35
2 2 X2 9 1
1. 1 4a®°-4a+1 2 & +2ab+H 3 T Xt 4 2107 5 24a 6 9 ba+
3 2.1 A 2 D 3 D 4 C 3.1 3612.01 2 15% 3 - 3% +8xy +3y

4 10a° +10ab +50° 5 X +y +47 +2xy- 4xz- 4yz 6 x“+14—“r’x2y2-y4 7 X° - 238y +y®

8 x2-2¢+1 9 2a8°+2¢ - 10ab- 10bc 10 x* - 10x% +35x° - 50x + 24
36

1. 1 4 -a 2y a'v 28—7 X" 2 1 101.001 3 - 0.00003025 - 3.15x1077 2.
3
1 B 2 D 3 B 4 C 3 15%=5%:5=p53%: 5 2:(%) + 125 2

— 128 —



12
:(%) 2 25 =5*% =5 +5Y =18 +3° =36 3 1024 4 1 5 a=2 b=1 c=

8l , c>a>b
37

.. 1. C 2 D 3 C 4 C 2.1 2% 2 -4xy+5z-1 3%%-

%yz 4432 3 1 -1- Sa2+%a4 2 %xzyz- 247x”+5y+%x3y2 3 - gazbz_ iab
+% 41 5 a+a =- a+a+l a%1, a-1 a'+a =- a-1 a+a+
1 a@+a-a-a=1-a& a=1, = a ®+ @ Y+a =3
38
. 1.1 2 - 11—6x7 3 -7 +a +7a 4 480 +4ab' 5 a-2b 6

2l 2 1 & +2ab+b 2 4a°-1 3 & +bB +4C +2ab-4dac- 4bc 4 a' - 2a°0° +b'
5 a&@-2ab+b*-1 6 2 3 115 -100 2 *#4 3159 411 -5 5 7 %
1 6 1 4 1 -291x10° 2 0.000051

1. D 22 A 3 B 4 B 5 D 6 C

1. 25a° +40ab 2. xX*-2x* +1 3. 224% 4. 4004001 5. = 2-1 2+1 2°+1 2¢
+1 =2°-1=255
1. -%asb“ca 2. - 9@Pc 3. - 258 +5F 4. 7y +2xy . 140ab -
160ac 6. X +4xz+47 - 9y
1. x* + 23y +y 25 2. -5x4+12x3+%x2-2 36
= 2%-1 2%+1 +1=2%-1+1=2%= 20" 2* =16,
6
39
1. 1 3 AB AC BC AB AC AB BC AC 2 1 3 3 a P a M

a P 4 ABCD OO AB CD 5 8 AD AB DB AE AC EC DE BC 6 AB C BA
c 2 1 v 2 v 3 v 4 X 5 X 6 X 3. 1 2 3
4 AB AC BC AC BC CA BA 5 6

40

1.1><2><3J4><5J6¢2.1%62
129 3 BCAC 45 5 AB BD 633.BC38-BD%664. 5 2.5
%3 5. abcc>b AD AD=a+2c-2b 1 AM 2 AM

AB=a BM BC=2c 3 CA CD =2b, AD

41

1. 18 21 2 +3 2«24 /A 2£C 2ABC LADC 2 90 ~ACE ,BOE «DCE 3
% % 4 17°45" 155°30 5 57°30" 12°42'30" 6 % 45 7 60 8 225 2. 1
C 2 C 3 B 4 B 5 C 6 D 3. 4 ,COD



4. X 90 - x 180 - X 59-x =2 180- x

30 30° 5. LACE = % /AOB+ ~BOC+ ~COD =53°44" ,BOE = ~ACE- ~ACB

o X =

=18°4' 6.

42

1. 1 X 2 X 3 X N 5 X 6 v 2. 1 745" 2
/1 =y72=y76=y/8 y73=,74=/5=,7 71 /5 71 /7 21 /3 71 /4 72
/5 +2 /7 s2 13 s2 4 3 s1=42 s3=44 /5=/.6 LAOD=,COB=/LE

OF ~AOE = ~COF = «DOF = £BOE «~BOF = ~DOE 4 30 75 3. 4, 1 1+
£3=90° #£3=,2 , 1+ .2 =90° /2+ 24 =90 , ~COF =90° 1+ 22+ 2 COF
=180° , OE OF 2 /COF =90° , CD L EF
43
1. 1 24 /45 2 72 /3 3 71 /12 12 LABF 2. 1 AB DE
EF 2 FE BC AB 3 DE BA BC 4 AC BC AB 3. z1
/4 /45 71 46 27 721 /42 /3
44
1. 1 2
2. 1 DE AB 2 «+D
3 LACB /DFE 3. / DBA / DBA
4. AB CD MN , LAEM = /BEG /DCN = 2CGE
/ AEM =  DGN , /BEG= /CCGE /1 =72 , </ BEG
- /21 =/2CCGE- 22 /FEG = £HGE , EF// HG
45
1. 1 D 2 A 3 C 4 B 2. 1 +,DAE /,E
/B 2
3 45°
3. E EF/AB AB // CD ., EF // CD
, /ABE = /BEF ~CDE = /DEF , «/BED = /BEF +

4 DEF =50° +20° =70° 4. BBCC BC B'C BB CC AB DC AD BC AADD BBCC
46

1. 1 2 3 4 ab 5
6 2 4 6 45° 60° 105°
2. 1 2
3 4
5
6 3.1
2
3 4
5
47
1. 1 B 2 C 3 D 4 D 2. 1
2 EF//CD AB // CD
3 3. EF / DC  ~DCB

— 130 —



= 7£2=30° DG/ BC ~BCA=80° 44 =50° 4. 1 £ ABF =65° £ ABF

=/,CFB , AB//CD £ C =50° +C= LEDF , BC// AE 2 AC // DE CD
£ BCA £/ ACD = £BCD = ~CDE DC// FE +,CDE = +DEF /BEF = 2BCD , «DEF
= £/ BEF EF £ BED
48

1. X 2. X 3. X 4. v 5 v 6. X

1. 14 6 2. 55°47'11" 124°12'49" 3. 4.
1 21=43 16 =47 2 /ABC+ ~BCD = 180° «BAD + ~ADC =
180° 3 722 4 32° 88° 60° 5. LAOB +
£ BOC =180° OE OF £AOB ~BOC OE L OF 6. BC

£ AED £ ACB
7. £BCD £ BCD AD BC

1. D 2. D 3 C 4 B 5 C 6. C

1. DE // BC , < ADE = ~ABC /1=/2 ,
/ADE- s1= /ABC- 12 /ADG = /ABF , DG/ BF
2. ,s1=/B . AE// BC . /C= .2
L os1= 42 , AE  /DAC
49
1 5'23X 2.3 - ; 3. -4 4 x<- g x>4 5 38x10* 0.0000215 6. 1 - 7a°

2 15a°p° 3 -8 +4X -12x 4 E%Z 7.6xX +11x- 10 8 x-2 9.25 6 10. 61°28

75°44" 11. 2 180- x =x+15 115 12. LAOC ~COB «DOE 13. 1 2
3 4 14. 72° 108° 15.
1. ¢ 2. D 3. B 4 A 5. C 6. D 7. A 8. B

_ 5 Xx=-3
1.{X" 2.[ g 3 -2 -1 4.-%sx<3

y = -
z=0
1.a&-b+2b-1 2. x-2¢y +y" 3.8 - 12ab 4. 9604
- 4a” +6b -1
1% x+y =15
X / y / , XxX=3y=9 3
2% y-x =15
/ 9 /
1. 12 +12y =12 x+y ? - 2xy 23—5 2.a=-6 b=+27 i%
1. 2.
1. BC 2. /2
3. AB//DE , 21=/B 41 =72 ,
/2 =/B LA+ /B =180° , AD//BC , /3=
/2 , /3 =/B

50
— 131 —



1.2 -2 2.0 -2 3.11 4 -234%x10° 51 6.x-y 7.6 +x-2 8.2 1

9. AB N 4 10. 11.
12. AB | CD O /AOC = 90°
1. Db 2. B 3 D 4 C 5 D 6. A 7. C
=5
1. -2000 2. ¥ -2¢+1 3. x=1 4 {X 5x=-3
y=-2
. 1 _ 4 R
KEW 12 8.a_7 b=1 9. - £ X 10. 40
1. 3 DG 2. 4 AD
XxX+y+z=18 _
Xyz X+y =2z , y =
X - :iz =
y=-3 =
7 5 6
1. BC 2.
/ DBE = ~EBC + DBE = / DEB ., /EBC = /DEB
BC

— 132 —

£/ ABC

., DE//



	第一阶段
	第二阶段
	第三阶段
	第四阶段
	第五阶段
	第六阶段
	第七阶段
	第八阶段
	第九阶段
	第十阶段
	习题答案与提示

